NACHTRAG ZU DEN UBUNGEN

Aufgabe 24 (Durchschnittszins):
b) Wir berechnen:

2 3 4
1+ —)(14+—)(1+—) =1,092624
(1+ 100>( + 100)( * 100) ’
Nun suchen wir ein p, sodass
D 3
1+ —=—)"=1,092624

gilt. Wir rechnen also
(14 55)° = 1,092624
& 1+1%0 = 1,029967
VN P = 2,9967

Aufgabe 28 (Variante):

c)
634198,811,05" — 40000 1,05 (3%1) < 40000
& 31709.94-1,05" —40000-1,05- (1,05" — 1) < 2000
& (31709.94— 42000) - 1,05" +42000 < 2000
& —~10290.06 - 1,05" < —40000
& 10290.06 - 1,05" > 40000
& 1,05" > 4,11602
& n - log(1,05) > log(4,11602)
log(4,11602)
= n > igog(1,05)
& n > 9899424



